06275_MDG I FHE , HHEIFR

7= miiEA

M

BHEFRE,

FE , MEER PF31-DIN 7708 , B , MiZfo R4NE , K4
B,

I
2 R ARBURLES,
REZXSEHLE,

REFEK :
ANAER,

WHRIFR F
ﬁ,h pad B2 5"(-\1 S .1 1 o
Qy Q| ao|lg Q
L1
L3
06275-41080X10 EMNA 80 10H7 26 16| 31 - - 218 x M6 x 40
06275-41080X12 EMA 80 12H7 26 16 | 31 - - 218 x M6 x 40
06275-41100X10 ENMA 100 10H7 31 17| 34 - - 218 x M6 x 40
06275-41100X12 ENMAL 100 12H7 31 17| 34 - - 218 x M6 x 40
06275-41125X12 EMA 125 12H7 30 18| 37 - - 222 x M8 x 56
06275-41125X14 ENMF 125 14H7 30 18| 37 - - 222 x M8 x 56
06275-41140X14 EMA 140 14H7 34 19| 34 - - 222 x M8 x 56
06275-41140X15 ENMA 140 15H7 34 19| 34 - - 222 x M8 x 56
06275-41160X15 EMNA 160 15H7 40 20 | 40 - - 226 x M10 x 80
06275-41160X16 EMA 160 16H7 40 20 | 40 - - 226 x M10 x 80
06275-41200X18 EMF 200 18H7 50 24| 46 - - 226 x M10 x 80
06275-41200X20 EMA 200 20H7 50 24| 46 - - 226 x M10 x 80
06275-41250X22 ENMA 250 22H7 50 28|49 - - 231 x M12 x 102
06275-41250X24 ENMFL 250 24H7 50 28 | 49 - - 231 x M12 x 102
06275-51080X10 HI N ENMA 80 10H7 26 16 | 31 3 11,4 218 x M6 x 40
06275-51080X12 I AN EMIL 80 12H7 26 16 | 31 4 13,8 218 x M6 x 40
06275-51100X10 SN EMAL 100 10H7 31 17| 34 3 11,4 218 x M6 x 40
06275-51100X12 HIT BN ENMA 100 12H7 31 17| 34 4 13,8 218 x M6 x 40

© norelem www.norelem.com




06275 _MDG 48&IF# & |

D2 D3 | L1 L3 B3

06275-51125X12 IR EM A 125 12H7 30 18|37 | 4 13,8 822 x M8 x 56
06275-51125X14 IR EMA 125 14H7 30 18|37 | 5 16,3 822 x M8 x 56
06275-51140X14 IR EM A 140 14H7 34 19|34| 5 16,3 822 x M8 x 56
06275-51140X15 IR EM A 140 15H7 34 19|34 | 5 17,3 822 x M8 x 56
06275-51160X15 IR EM A 160 15H7 40 20|40 5 17,3 826 x M10 x 80
06275-51160X16 IR EM A 160 16H7 40 20|40 | 5 18,3 26 x M10 x 80
06275-51200X18 IR EM A 200 18H7 50 24|46 | 6 20,8 226 x M10 x 80
06275-51200X20 IR EM A 200 20H7 50 24|46 | 6 22,8 226 x M10 x 80
06275-51250X22 IR EM A 250 22H7 50 28|49 | 6 24,8 231 x M12 x 102
06275-51250X24 IR EM A 250 24H7 50 28|49 8 27,3 231 x M12 x 102

© norelem www.norelem.com




